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QUESTION 1

Which parameter can automatically adjust other configuration parameters that are not present in the configuration file? 

A. AUTO_PERF 

B. AUTO_TUNE 

C. AUTO_CONFIG 

D. AUTO_ENABLE 

Correct Answer: B 

 

QUESTION 2

When you take a level 2 backup, what data is backed up? 

A. All new data since the last level 1 backup. 

B. All new data since the last level 2 backup. 

C. All logical logs which have not previously been backed up. 

D. All new data since the last level 0, level 1 or level 2 backup. 

Correct Answer: A 

 

QUESTION 3

Which type of device does Primary Storage Manager support? 

A. File 

B. Tape 

C. Directory 

D. Named pipe 

Correct Answer: A 

 

QUESTION 4

Which of the following is NOT possible during a non-root Informix Server installation? 

A. Role Separation 

B. Create users and groups 
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C. Create a database server instance 

D. Secure the Informix installation directory 

Correct Answer: B 

 

QUESTION 5

In an organization, all employees are authenticated via domain wide Kerberos single sign- on. The DBSA wants to
provide access to the database server for an employee without requesting the Operating System (OS) administrator to
create a OS level user account. Which Informix feature does the DBSA need to leverage? 

A. Mapped users 

B. Role based users 

C. Table level access for users 

D. Label based access for users 

Correct Answer: A 
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